
Maths Question Bank 
1. If A's income is 10 percent more than B's income then what percentage of B's income is 

less than A's income ? 

           यदि A की आय B की आय से 10 प्रदिशि अदिक है िो B की आय A की आय से दकिनी प्रदिशि कम है ? 
  

(A) 10% (B) 11% 

(C) 9
𝟏

𝟏𝟏
 % Ans. (D) 𝟏𝟏

𝟏

𝟗
% 

2. If A's income is 20 percent less than B's income then what percentage of B's income is 
more than A's income ? 

          यदि A की आय B की आय से 20 प्रदिशि कम है िो B की आय A की आय से दकिनी प्रदिशि अदिक है? 
 

(A) 20% (B) 25% Ans. 

(C) 30% (D) 10% 

3. When there is a 20 percent reduction in the price of tea, how many percent should a 
housewife increase her tea consumption so that her total expenses are not affected ? 

चाय की कीमि में 20% की कमी होने पर एक गृहणी  अपनी चाय की खपि में दकिने प्रदिशि की वृद्धि करें  

दक उसके कुल खचच पर कोई प्रभाव ना पडे ? 
 

(A) 25% Ans. (B) 20% 

(C) 30% (D) 𝟑𝟑
𝟏

𝟑
 % 

 
4. If the price of petrol increases by 10 percent, a car driver reduces his petrol quantity by 10 

percent, then what was the effect on his total expenditure ? 

पेट्र ोल की कीमि में 10% की वृद्धि होने पर एक कार चालक अपनी पेट्र ोल की मात्रा में 10% की कमी कर 

िेिा है िो उसके कुल खचच पर क्या प्रभाव पडा ? 
 

(A) 1%decrease Ans. (B) 1%increase 

(C) 10%increase (D) No Change 
 

5. In an examination, 30 percent of the students failed in mathematics, 35 percent of the 
students failed in English and 25 percent of the students failed in both, if the number of 
candidates passed in both subjects is 360, then what will be the total number of students 
? 

एक परीक्षा में 30 प्रदिशि दवद्यार्थी गदणि में फेल हुए 35 प्रदिशि दवद्यार्थी अंगे्रजी में फेल हुए िर्था 25 प्रदिशि 

दवद्यार्थी िोनो ंमें फेल हुए अगर िोनो ंदवषय में पास परीक्षादर्थचयो ंकी संख्या 360 हो, िो कुल परीक्षादर्थचयो ंकी 

संख्या क्या होगी ? 
 

(A) 400 (B) 500 

(C) 600 Ans. (D) 𝟖𝟎𝟎 

    



6. What will be the simple interest of 10 years for 1800 rupees at the rate of 10 percent per 
annum ? 

1800 रुपया पर 10 प्रदिशि वादषचक की िर से 10 वषच का सािारण ब्याज दकिना होगा ? 
 

(A) ₹3600 (B) ₹1800 Ans. 

(C) ₹360 (D) ₹180 

7. In how many years will a money triple at 5% per annum interest rate ? 

5 प्रदिशि प्रदिवषच ब्याज की िर से कोई िन दकिने वषों में दिगुना हो जाएगा ? 
 

(A) 60Years (B) 40Years Ans. 

(C) 20Years (D) 30Years 

 
8. In how many years will a rich become double than himself in 20 years at the rate of per 

annual interest, in how many years will he become four times at the same rate of annual 
interest ? 

दजिने सैकडे वादषचक सूि की िर से कोई िन 20 वषों में अपने से िुगुना होिा हैं उिने ही सैकडे वादषचक सूि 

की िर से दकिने वषों में अपना चार गुना हो जाएगा ? 
 

(A) 40Years (B) 50Years 

(C) 60Years Ans. (D) 70Years 

 
9. What will be the amount payable after 2 years if a loan of 10000 rupees is borrowed at the 

rate of 10 percent compound interest ? 

10 प्रदिशि चक्रवृद्धि ब्याज की िर पर 10000 रुपया उिार दलए गए िो 2 वषों बाि िेय दमश्रिन क्या होगा ? 
 

(A) ₹12100 Ans. (B) ₹10100   

(C) ₹19100 (D) ₹19000  
 
10. If a money gets tripled in two years at the rate of compound interest, then in how many 

years will this money become 27 times ? 

चक्रवृद्धि ब्याज की िर पर कोई िन िो वषों में िीन गुना हो जािा हो, िो यह िन दकिने वषों में 27 गुना हो 

जाएगा ? 
 

(A) 4Years (B) 6Years Ans. 

(C) 8Years (D) 9Years 

 
11. If the difference between compound interest and simple interest at the rate of 10 percent 

per annum interest in 3 years is 15.50 rupees. Then find the money ? 

यदि दकसी िन का 3 वषों में 10 प्रदिशि वादषचक ब्याज की िर से चक्रवृद्धि ब्याज और सािारण ब्याज का 

अन्तर 15.50 रुपया है। िो िन ज्ञाि करें  ? 
 

(A) ₹575 (B) ₹500 Ans.  

(C) ₹625 (D) ₹600  



12. The compound interest of 2 years at 5 percent per annum on a money is 328 rupees. What 
will be the simple interest on this money at the same rate for the same time ? 

दकसी िन पर 5 प्रदिशि वादषचक िर से 2 वषच का चक्रवृद्धि ब्याज 328 रुपया है। इस िन पर इसी िर से इिने 

ही समय का सािारण ब्याज क्या होगा ? 
 

(A) ₹320 Ans. (B) ₹322  

(C) ₹325 (D) ₹326  

13. Two consecutive discount is equal to 10% and 20% respectively of which one discount ? 

िो क्रमागिः बटे्ट (छुट्) क्रमशः 10 प्रदिशि ओर 20 प्रदिशि दकस एक बटे्ट के बराबर है ? 

(A) 30% (B) 15% 

(C) 28% Ans. (D) 12% 

14. A trader marks 10 percent more than his price on his cost price. If he gives his customer a 
discount of 10 percent on the marked price, then what percentage of profit or loss will the 
merchant get ? 

एक व्यापारी अपने समान पर क्रयमूल्य से 10 प्रदिशि अदिक अंदकि करिा है। यदि वह अपने ग्राहक को 

अंदकि मूल्य पर 10 प्रदिशि की छूट् िेिा है, िो इस प्रकार वह व्यापारी दकिने प्रदिशि लाभ या हादन प्राप्त 

करेगा ? 

(A) 1%More (B) 1%Less Ans. 

(C) 5%More (D) Neither more, nor less 

15. Two kinds of discount on the amount of 100000 rupees, one discount is 40 percent and 
second discount is two percent respectively 36 percent and 4 percent. What is the 
difference between the two types of discount ? 

100000 रुपया की रादश पर िो िरह के बटे्ट, दजनमें एक बट्टा 40 प्रदिशि है और िूसरा बट्टा िो क्रमवारः 36 

प्रदिशि िर्था 4 प्रदिशि है। िोनो ंिरह के बटे्ट में दकिना अन्तर है ? 

(A) None (B) ₹1440 Ans. 

(C) ₹2500 (D) ₹4000  

16. Anjan bought a bicycle for Rs 850 and sold it for Rs 930. What is his profit percentage ? 

अंजन ने 850 रुपया में एक साइदकल खरीिकर 930 रुपए में बेच िी। उसके लाभ का प्रदिशि क्या है ? 
 

(A) 30% (B) 11
𝟏

𝟐
% 

(C) 9
𝟕

𝟏𝟕
% Ans. (D) 10% 

17. A watch was sold for 440 rupees which resulted in a gain of 10 percent. 

tel:100000
tel:100000


एक घडी 440 रुपया में बेची गई दजससे 10 प्रदिशि लाभ हुआ उस घडी का क्रयमूल्य है- 
 

(A) ₹425 (B) ₹415  

(C) ₹410 (D) ₹400 Ans.  

18. If the price of 10 items is equal to the sale price of 8 items, then find the profit / loss 
percentage ? 

यदि 10 वसु्तओ ंका क्रयमूल्य 8 वसु्तओ ंके दवक्रयमूल्य के बराबर हो, िो लाभ/हादन प्रदिशि ज्ञाि करें  ?  
 

(A) 20%profit (B) 25% profit Ans. 

(C) 50%profit (D) None of these 

19. If a seller had not sold a lamp at a loss of 20 percent and had sold it at a profit of 20 
percent, he would have received 10 rupees more. What is the value of a lamp ? 

एक दबके्रिा एक लैम्प को यदि 20 प्रदिशि हादन पर न बेचकर 20 प्रदिशि लाभ पर बेचिा, िो उसे 10 रुपया 

अदिक दमलिे। लैम्प का क्रयमूल्य क्या है ? 
 

(A) ₹20 (B) ₹25 Ans. 

(C) ₹30 (D) ₹35  

20. The value of an object is 39 rupees, if the numerical value of its profit percentage is equal 
to its value, then what is the value of the object ? 

दकसी वसु्त का दवक्रयमूल्य 39 रुपया है, यदि इसके लाभ प्रदिशि का संख्यात्मक मान इसके क्रयमूल्य के 

बराबर हो, िो वसु्त का क्रयमूल्य क्या है ? 
 

(A) ₹25 (B) ₹30 Ans. 

(C) ₹32 (D) ₹35  

21. A person bought some bananas at the rate of 1 rupee 3, buy as many bananas at the rate 
of 1 rupee 2. To earn 20 percent profit on all these, he will sell them at the rate of Rs. Per 
dozen. 

एक व्यद्धि ने कुछ केले 1 रुपया के 3 की िर से खरीिे उिने ही केले 1 रुपया के 2 की िर से खरीिें। इन सब 

पर 20 प्रदिशि लाभ कमाने हेिु वह इन्हें दकिने रुपये प्रदि िजचन की िर से बेचेगा ? 
 

(A) ₹4 (B) ₹5
  

(C) ₹6 Ans. (D) ₹7 

22. 2 : ? :: ? : 32  What is the value of ?. 

2 : ? :: ? : 32 में ? का मान क्या है ? 

  

(A) 64 (B) 34 

(C) 30 (D) 8 Ans. 

    

23. What is the 4th  proportional is 6, 11, 12 

6, 11, 12 का चिुर्थच समानुपािी है- 



 

(A) 29 (B) 23 

(C) 72 (D) 22 
Ans. 

24. In a makeup shop, ribbon, nail polish and lipstick are in the ratio 5: 3: 2. If the shop has 72 nail 

polish, what is the number of lipsticks ? 

एक शंृ्रगार की िूकान में रीबन, नेलपॉदलश एवं दलपद्धिक 5 : 3 : 2 के अनुपाि में हैं। यदि िूकान में 72 

नेलपॉदलश हो,ं िो दलपद्धिक की संख्या क्या है ? 

 

(A) 120 (B) 72 

(C) 48 Ans. (D) Cannot be determined 

25. Between two numbers are in the ratio 4: 7. After subtracting 10 from each number, the ratio of new 

numbers becomes 1: 2, so which is the larger number ? 

िो संख्याओ ंके बीच 4 : 7 के अनुपाि में हैं। प्रते्यक संख्या में से 10 घट्ा िेने पर नयी संख्याओ ंका अनुपाि 1 : 

2 हो जािा है, िो बडी संख्या कौन सी है ? 

 

(A) 40 (B) 70 Ans. 

(C) 80 (D) 100 

 

26. If three numbers are in the ratio 2 : 3 : 5 and the sum of their squares is 342, then the middle number 

will be- 

यदि िीन संख्याएँ 2 : 3 : 5 के अनुपाि में हो ंऔर उनके वगों का योगफल 342 हो, िो बीच की संख्या होगी- 

 

(A) 9 Ans. (B) 12 

(C) 15 (D) 3 

27. If  
𝟓𝒂+𝟑𝒃

𝟐𝒂−𝟑𝒃
 = 

𝟐𝟑

𝟓
 so, what will be the ratio of a : b ? 

यदि 
𝟓𝒂+𝟑𝒃

𝟐𝒂−𝟑𝒃
 = 

𝟐𝟑

𝟓
  हो, िो a :b का मान क्या होगा ? 

 

(A) 2 : 1 (B) 1 : 4 

(C) 1 : 2 (D) 4 : 1 Ans. 

28. If X : Y :: 3 : 2, Then (𝑿𝟓 - 𝒀𝟓) : (𝑿𝟓  + 𝒀𝟓)  is equal to ? 

यदि X : Y :: 3 : 2, Then (𝑿𝟓 - 𝒀𝟓) : (𝑿𝟓  + 𝒀𝟓)   दकसके बराबर है ? 

 

(A) 211: 275 Ans. (B) 243: 32 

(C) 81: 16 (D) 16: 81 

 

29. There is a ratio of 4 : 3 in the annual income of the people A and B and in the ratio of 3 : 2 in their 

annual expenditure, if everyone saves Rs 600 at the end of the year, then find the difference in their 

income ? 

A िर्था B की वादषचक आय में 4 : 3 का अनुपाि है िर्था उनके वादषचक खचच में 3 : 2 का अनुपाि है यदि वषच के 

अन्त में प्रते्यक ने 600 रुपया बचाए, िो उनकी आय में अन्तर ज्ञाि कीदजए ? 

 

(A) ₹400 (B) ₹600 Ans. 



(C) ₹800 (D) ₹200 

30. The ratio of the mixture of 90 liters of milk and water is 4 : 5. How much liter of water should be 

added to this mixture so that the ratio of milk and water in the new mixture becomes 1 : 2 ? 

90 लीट्र िूि और पानी के दमश्रण का अनुपाि 4 : 5 है। इस दमश्रण में दकिना दलट्र पानी और दमलाया जाए 

दक नए दमश्रण में िूि और पानी का अनुपाि 1: 2 हो जाए ? 

 

(A) 20 Liters (B) 25 Liters  

(C) 30 Liters (D) 40 Liters 

31. What will be the average of 5, 7, 13, 0 and 15 ? 

5, 7, 13, 0 और 15 का औसि क्या होगा ? 

 

(A) 7 (B) 8 Ans. 

(C) 10 (D) 11 

32. If a,b,c and d are four consecutive natural numbers, then their average is- 

a,b,c और d यदि लगािार चार प्राकृि संख्या हो, िो इनका औसि है- 

 

(A) b + c (B) 𝒂+𝒃

𝟐
  Ans. 

 
(C) 4a (D) 𝒃 + 𝒄

𝟐
 

33. The average of five numbers is (-5). If the sum of three of these numbers is (15), then the average of 

the remaining two numbers will be- 

पाँच संख्याओ ंका औसि (-5) है। यदि इनमें से िीन संख्याओ ंका योग (15) हो, िो शेष िो संख्याओ ंका औसि 

होगा- 

 

(A) - 20 Ans. (B) - 5 

(C) 8 (D) 20 

34. The average of three numbers is 7. By adding a fourth number, the average of all the numbers 

becomes 8, so what is the fourth number ? 

िीन संख्याओ ंका औसि 7 है। एक चौर्थी संख्या जोड िेने पर सभी संख्याओ ंका औसि 8 हो जािा है, िो चौर्थी 

संख्या क्या है ? 

 

(A) 8 (B) 9 

(C) 10 (D) 11 Ans. 

35. The average of 30 figures was found to be 150. It was later seen that the value of a statistic was 

written 135 instead of 165 in the calculation. What was the actual average of the data ? 

30 आँकडो ंका औसि 150 पाया गया। बाि में िेखा गया दक पररकलन में भूल से एक आँकडे का मान 165 के 

स्र्थान पर 135 दलखा गया र्था। आँकडो ंका वास्तदवक औसि क्या र्था ? 

 

(A) 148 (B) 149 



(C) 150 (D) 151 Ans. 

36. In what proportion should the rice of 8.20 rupees per kg be sold along with rice of 6.20 rupees per 

kg, so that the value of the new mixture becomes 7.20 rupees per kg ? 

6.20 रुपया प्रदि दकग्रा का चावल के सार्थ 8.20 रुपया प्रदि दकग्रा के चावल को दकस अनुपाि में दमलाकर बेचा 

जाए दजससे नए दमश्रण का मूल्य 7.20 रुपया प्रदि दकग्रा हो जाए ? 

 

(A) 1 : 2 (B) 2 : 1 

(C) 1 : 1 Ans. (D) 3 : 2 

37. In the mixture of 80 liters alcohol and water, the water is 20 percent. How much water is added to 

the mixture so that the ratio of alcohol and water in the new mixture becomes 2: 1 ? 

80 लीट्र एल्कोहल और पानी के दमश्रण में पानी 20 प्रदिशि है दकिना पानी दमश्रण में और दमला दिया जाए, 

दक नए दमश्रण में एल्कोहल और पानी का अनुपाि 2 : 1 हो जाए ? 

 

(A) 16 liters Ans. (B) 32 liters 

(C) 40 liters (D) 120 liters 

38. There was 80 liters of milk in a tank. 8 liters of milk was taken out and this much water was added. 

This action was done twice more. Lastly, how much milk is there in the tank ? 

एक टं्की में 80 लीट्र िूि र्था। इसमें 8 लीट्र िूि दनकाल कर इिना ही पानी डाल दिया गया। यह दक्रया िो 

बार और की गई। अन्त में टं्की में दकिना िूि है ? 

 

(A) 22.2 liters (B) 32.2 liters 

(C) 58.32 liters Ans. (D) 52.2 liters 

39. Alloys made by mixing gold and copper in the ratio of gold and copper in A and B is 7 : 2 and 7 : 11 

respectively. If an alloy is made by mixing equal of both alloys, then what will be the ratio of gold 

and copper in this new alloy ? 

सोने िर्था िाँबे को दमलाकर बनाई गई दमश्र िािुओ ंA िर्था B में सोने िर्था िाँबे का अनुपाि क्रमशः 7 : 2 िर्था 

7 : 11 है। यदि िोनो ंदमश्र िािुओ ंकी बराबर मात्र को दमलाकर दमश्रिािु C बनाई जाए, िो इस नई दमश्रिािु में 

सोने िर्था िाँबे का अनुपाि क्या होगा । 

 
(A) 5 : 7 (B) 5 : 9 

(C) 7 : 5 Ans. (D) 9 : 5 

40. Jayant started a shop by investing 30,000 rupees and after two months Raju became a 
partner in this shop by investing 45,000 rupees. What will be Raju's share of the total profit 
of Rs. 54,000 at the end of the year ? 

जयन्त ने 30,000 रुपया लगाकर एक िुकान आरम्भ की िो माह बाि 45,000 रुपया लगाकर राजू इस िुकान 

में साझेिार हो गया। वषच के अन्त में कुल 54,000 रुपया के लाभ में से राजू का भाग क्या होगा ? 

(A) ₹27,000 (B) ₹24,000 

(C) ₹30,000 Ans. (D) ₹36,000 



41. A mother's age is three times her daughter's age. After 10 years, the mother will be twice 
as old as her daughter, So how old is the daughter ? 

एक माँ की आयु अपनी बेट्ी की आयु की िीन गुनी है। 10 वषच बाि माँ अपनी बेट्ी से िोगुनी बडी हो जाएगी, 

िो बेट्ी की आयु अभी दकिनी है ? 
 

(A) 5 Years (B) 7 Years 

(C) 8 Years (D) 10 Years Ans. 

42. The ratio of the ages of Vimal and Arun is 3 : 5 and the sum of their ages is 80 years. What 
will be their age ratio after 10 years ? 

दवमल िर्था अरुण की आयु का अनुपाि 3 : 5 है िर्था इनकी आयु का योग 80 वषच है। 10 वषच बाि इनकी 

आयु का अनुपाि क्या होगा ? 
 

(A) 1 : 2 (B) 2 : 1 

(C) 3 : 2 (D) 2 : 3 Ans. 

43. The ratio of ages of Ram and Mukta is 3 : 5. After 9 years the ratio of their ages will be 3 : 
4, so what is the present age of Mukta ? 

राम िर्था मुिा की आयुओ ंका अनुपाि 3 : 5 है। 9 वषच बाि उनकी आयुओ ंका अनुपाि 3 : 4 हो जाएगा,िो 

मुिा की विचमान आयु क्या है ? 
 

(A) 9 Years (B) 15 Years Ans. 

(C) 18 Years (D) 24 Years 

44. L.C.M of  
𝟐

𝟓
 , 

𝟖

𝟏𝟓
 , 
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𝟐𝟓
  will be- 

𝟐

𝟓
 , 

𝟖

𝟏𝟓
 , 

𝟒

𝟐𝟓
   का ल.स. होगा- 

(A) 𝟏𝟒

𝟐𝟓
   (B) 𝟔𝟒

𝟕𝟓
   

(C) 𝟖

𝟓
 Ans.  (D) None of these 

45. What is the largest four-digit number in which divided by 6, 9, 12, 15 and 18 is left 2 in 
each case ? 

चार अंको ंकी बडी से बडी संख्या क्या है दजसमें 6, 9, 12, 15 और 18 से भाग िेने पर प्रते्यक िशा में 2 शेष 

बचे ? 

(A) 9900 (B) 9901 

(C) 9902 Ans. (D) 9990 

46. In how many seconds will cross the two trains of 380 meters and 190 meters long run in 
opposite directions of each other at a speed of 20 km/h and 18 km/h ? 



380 मीट्र िर्था 190 मीट्र लम्बी िो ट्र ेन एक-िूसरे की दवपरीि दिशा में 20 दकमी/घण्टा िर्था 18 दकमी/घण्टा 

की चाल चलिे हुए एक-िूसरे को दकिने समय में पार कर पाएगी ? 
 

(A) 49 Seconds (B) 50 Seconds 

(C) 54 Seconds Ans. (D) 56 Seconds 

47. The length of a train and the length of a platform are the same. If the train moves at a 
speed of 90 km/h, it crosses that platform in 1 minute, then what is the length of the train ? 

एक ट्र ेन की लम्बाई िर्था एक पे्लट्फामच की लम्बाई समान हैं यदि 90 दकमी/घण्टा की चाल से चलिी हुई यह 

ट्र ेन उस पे्लट्फामच को 1 दमनट् में पार कर जािी है, िो ट्र ेन की लम्बाई क्या है ? 
 

(A) 500 m (B) 600 m 

(C) 750 m Ans. (D) 900 m 

48. Anuradha can do a work in 30 hours and Nalini can do the same work in 45 hours. If both start 

working together, when will that work end ? 

अनुरािा एक काम 30 घणे्ट में िर्था नदलनी उसी काम को 45 घणे्ट में कर सकिी है। यदि िोनो ंएक सार्थ काम 

करना आरम्भ करे, िो वह काम समाप्त होगा ? 

 

(A) 15 hours (B) 75 hours 

(C) 18 hours Ans. (D) 20 hours 

49. If A, B and C  finish a work in 15, 10 and 12 days respectively, then in how many days will the three 

together complete the work ? 

यदि A, B िर्था C दमलकर दकसी कायच को क्रमशः 15, 10 िर्था 12 दिन में समाप्त करें , िो िीनो ंदमलकर इस 

कायच को दकिने दिन में पूरा करें गे ? 

 

(A) 6 days (B) 8 days 

(C) 4 days Ans. (D) None of these 

50. One tap can empty one tap in 60 minutes while another tap can fill in 50 minutes. If the 
tank is completely empty and both the tapes are opened simultaneously, then how much 
time will it take to fill the tank ? 

एक हौज को एक नल 60 दमनट् में खाली कर सकिा है जबदक िूसरा नल 50 दमनट् में भर सकिा हैं यदि 

हौज पूणच खाली हो और िोनो ंनल एक सार्थ खोल दिये जाएं, िो हौज को भरने में दकिना समय लगेगा ? 
 

(A) 12 minutes (B) 5 hours Ans. 

(C) 1.5 hours (D) 𝟓

𝟏𝟏
   hours 

 


